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i 55 pH DO(mg/L) | BOD (mg/L) | SS (mg/L) | KEZEEHK
| BlE#S = | 2@ ] = il = il = il
b MR | BNE | | BN | | BORR | [1sveie) BN | mn | ENE |
EiE FEHME 1B FE5iE FE5iE
7.5 11 0.5 < 23
EWHE | —| 1.2 |-/4| 7.1 |-/4| 0.5 |-/4|<0.5| <1 |-/4 7 |-/4
7.4 10 0.5 <1 18
7.8 12 0.5 <1 33
JkBA4%5 [AA| 7.6 |0/6| 8.6 |0/6| <0.5 |0/6|<0.5| <1 0/6 4 |0/6
7.7 11 0.5 <1 16.0
7.8 12 0.5 <1 49
T |Z28g4° L AA| 7.6 |0/6| 9.5 [0/6| <0.5 |0/6|<0.5| <1 |o0/6 4 |0/6
7.7 11 0.5 <1 9.7
F— A ;g / ¥ / Zog / 5 2} / g /
& = . 0/6| 8.9 |0/6]| <. 0/6 | <0. 0/6 2 10/6
UL 77 " 0.5 4 17
7.9 13 0.5 2 540
;) |[BOWHE A 7.6 | 0/6| 9.3 |0/6| 0.5 |0/6]<0.5| <1 |0/6 7 10/6
7.7 11 0.5 1 124
7.7 13 1.1 2 240
WEHMEBE A| 7.5 (06| 8 0/6 | <0.5 [0/6]| 0.5| <1 |0/6 7 (0/6
7.6 11 0.6 1 64. 2
7.8 12 1.0 3 1300
E#KX#¥E A| 7.5 |0/6| 9.8 |0/6| <0.5 |0/6| 0.6 1 10/6 4 |1/6
7.6 11 0.8 2 244. 7
i 2 - 7.3 8.7 1.4 3 350
X /2 iﬁ}; —| 7.0 |-/4| 7.6 |-/4| 0.9 |-/4| 0.8| <1 |-/4| 23 |-/4
1 1f| B 7.1 8.1 1.1 2 132
X 7.6 11 1.0 3 350
:Fff:'fﬂ Al 72 |o/a| 89 |om4| o5 |o4] 06| <1 |o/4| 13 |o/a
- 1.4 10 0.8 2 102
7.5 11 1.1 4 540
n ERKE Al 7.2 |0/6] 7.2 |1/6] <0.5 [0/6] 0.8] <1 |0/6 7 |0/6
7.3 9 1.0 3 133
n 7.5 10 1.2 4 540
fwgk¥E A | 7.3 |o0/6| 7.1 | 1/6| <0.5 |0/6| 0.8 <1 |0/6| 23 |0/6
7.4 8.7 1.0 2 113
7.7 13 0.5 10 790
Efﬁi” —| 14 |-/6| 10 |-/6| <0.5 |-/6| 0.4 < |-/6| 13 |-/6
§ o 7.6 1 0.5 5 197
| == 7.7 12 0.5 5 79
s | T 1.4 | -/6| 10 -/6| <0.5 | -/6|<0.5 1 -/5 4 | -/6
B 1.5 11 0.5 2 42
7.6 12 0.5 2 79
< | ABE | —| 1.4 |-/6| 10 -/6 | <0.5 | -/6|<0.5 1 |-/6 7 |-/6
4 7.5 11 0.5 2 42
m == ;g , 11 ) 1.0 , 25 , 49 ,
s — . -/6| 8.7 |-/6| <0.5 |-/6|<0.5| <1 |-/6 7 |-/6
XX T 71 10 0.5 " 31
I 7.8 12 1.1 30 3500
BOEEENME —| 1.2 |-/5| 89 |-/5| 05 |-/5| 0.6 2 |-/5| 23 |-/5
il 1.5 10. 1 0.8 12 750
7.5 11 0.6 2 790
% _@%ﬁ —| 7.2 |-/6| 1.1 |-/6|<0.5 |-/6|<0.5| <1 |-/6 7 |-/6
il Ikl 7.3 10 0.5 1.4 150

£33 Fm/rji];)%lat.:ﬁ@ﬁi’&iumlinwifaiﬁiﬁéiﬁﬁ(iﬁﬁ!hfﬁb\%wﬁﬂﬁ()’éﬁit#ﬁ{?k%ﬂz%fi\%%
JIFXRFDER
KGEBHHMOBERIXTMPN/100mL |



